
Concursul de limba engleză – faza zonală februarie 2013               Clasa a XII­a Varianta A

Use of English

I. Fill each of the numbered blanks in the following text. Use only one word in each space. (15 
points)

In a major breakthrough in diving, scientists have developed an artificial gill capable  1...  obtaining oxygen 

2...sea water.  The question of  3....  fish breathe puzzled man  for  centuries.  Now,   fortunately,  a  team of 

chemists,  physicists  and mathematicians at  Tokyo University  have built   two  forms of  artificial  gill,  which 

imitate the breathing method used  4.....  fish. They are also developing a lightweight version  5....  could be 

worn on the back. They expect that the first model will be 6....for human trials within three years and could 

be7 ........ sale in the shops within five to ten years. Fish transfer oxygen directly to the blood, and the artificial 

gill will be 8.......... to transfer oxygen through a mouthpiece into human lungs. This process of taking oxygen 

9......... of water occurs through the ultra­thin surface of hundreds of fine, hollow threads. As water streams 

over them, the dissolved oxygen in10 ....... passes through to become a breathable gas. At the moment, the 

human  gill   has  a  10­litre   volume,  11........  has   to   be  halved   to   produce  a  machine   small  12.......to   be 

commercially successful. In  13........to this, the team is optimistic, believing it will have huge value both for 

commercial and leisure purposes 14........ it will let people dive, in shallow water, for as 15......as they like. 

II. Read the text below and use the word given in the brackets to form words that fit in the gaps. 
(10 points)

There has been much debate in recent times about when young people should take up a second language. This has  

been especially fuelled  in recent times by the increasing  1...................(important) placed on the English 
language. It is now commonplace to see parents providing a substantial amount of 2................(funds) on 
additional tuition on language lessons to give their children every 3...................(competition) edge. In the 
past decade, language institutes have sprung up in  4 ..............(number) urban centres, all claiming to 
provide rapid 5...................(advance) in English. There has been a push by many parents to expose their 
children to English in their 6.................(formation) years. This, many claim, will make the language more 
7..................(instinct) and ensure that all pronunciation errors can be avoided. There is some evidence 
which   points   to   youngsters   who   have   been   raised   in  8..................(language)   families,   where   the 
language spoken at home is different to the one that they 9...........(conversation) with in their external 
environment.  While   these children can switch between two  languages with greater  10..........(easy)   it 
remains to be seen whether this is advantageous when learning additional languages.

III. Complete the second sentence so that it has a similar meaning to the first sentence, using the 
word given. Do not change the word given. You must use between 3 and 8 words including 
the word given. 
  
(15 points)

1. When I realised what had happend, I became quite afraid. 
OVERCOME

                                    I .......................................................................................when I worked out what had 
occurred.

2.   It looks as if he's forgotten about the meeting again.                                             TO



                                    He seems.............................................. ................................................about the 
meeting again.

3. You can see that they made a big effort with the school play.                                 DEAL
You can see that................................................................................................. into the school 
play.

4.You have to work here for two years before they consider you for promotion     BEEN
They will consider you for promotion............................................................................for two 
years. 

5. It was a bad idea to turn up unexpectedly without calling first.                              BLUE
You should............................................................................................................without calling 
first.

IV. Find one word which is appropriate for all three gaps in each of the following sentences.  (10 
points)

1. We were aiming to raise one million euros for charity, but we…………….short by quite a long way.
I did a survey online and it said that I………….into the category of people who should consider a 
career change.
Jane seemed confident going into the interview, but then she…………to pieces and made a complete 
mess of it.

2. I don’t like parties because I’ve never been good at…………….talk.
I wish you wouldn’t try to make me look ……………………..in front of other people.
We sat up chatting into the……………hours.

3. I’m planning to go to the funeral, just to…………..my last respect.
I was surprised when Caleb said I looked nice because he doesn’t usually …………….me 
compliments.
I might not have a lot of money, but I always make sure I ……………my way.

4. There’s no………………………….for believing that the Queen is going to abdicate.
She is only working here on a temporary………………
We chose Turkey on the…………………….that it’s much cheaper than Greece. 

5. We hope it won’t be too long before we start a …………………….
My dad thought that the whole thing reflected badly on the……………………name.
Our dog’s got a great personality and we all treat her like one of the……………….. 

Writing (50 points)

You work for a local environmental organization which is concerned about the effect that mass tourism is 
having on your region. Your manager asked you to write a proposal in which you suggest ways of 
encouraging tourists to continue visiting your area without threatening the local environment. Use 
approximately 300 words.

Clasa a XII­a



Use of English

V. Fill each of the numbered blanks in the following text. Use only one word in each space. (15 
points)

In a major breakthrough in diving, scientists have developed an artificial gill capable 1.... obtaining oxygen 
2..... sea water. The question of 3........  fish breathe puzzled man for centuries. Now, fortunately, a team of 
chemists,  physicists  and mathematicians at  Tokyo University  have built   two  forms of  artificial  gill,  which 
imitate the breathing method used 4..... fish. They are also developing a lightweight version 5.......... could be 
worn on the back. They expect that the first model  will be 6...........  for human trials within three years and 
could be7 ........ sale in the shops within five to ten years. Fish transfer oxygen directly to the blood, and the 
artificial gill will be 8.......... to transfer oxygen through a mouthpiece into human lungs. This process of taking 
oxygen 9......... of water occurs through the ultra­thin surface of hundreds of fine, hollow threads. As water 
streams over them, the dissolved oxygen in10.  .......passes through to become a breathable gas. At  the 
moment,   the  human gill   has  a  10­litre  volume,  11........  has   to  be  halved   to  produce  a  machine  small 
12............. to be commercially successful. In 13........to this, the team is optimistic, believing it will have huge 
value both for commercial and leisure purposes 14........  it will let people dive, in shallow water, for as 15. 
.....as they like. 

VI. Read the text below and use the word given in the brackets to form words that fit in the gaps. 
(10 points)

There has been much debate in recent times about when young people should take up a second language. This has  
been especially  fuelled  in recent times by the increasing 1...................(important) placed on the English 
language. It is now commonplace to see parents providing a substantial amount of 2................(funding) 
on additional tuition on language lessons to give their children every 3...................(competition) edge. In 
the past decade, language institutes have sprung up in 4. ..............(number) urban centres, all claiming to 
provide rapid 5...................(advanced) in English. There has been a push by many parents to expose 
their children to English in their 6.................(formation) years. This, many claim, will make the language 
more 7..................(instinct)  and ensure   that  all  pronunciation  errors   can be avoided.  There   is  some 
evidence which points to youngsters who have been raised in 8..................(language) families, where the 
language spoken at home is different to the one that they 9...........(conversation) with in their external 
environment. While these children can switch between two languages with greater 10.  .........(easy)  it 
remains to be seen whether this is advantageous when learning additional languages.

VII. Complete the second sentence so that it has a similar meaning to the first sentence, using the 
word given. Do not change the word given. You must use between 3 and 8 words including 
the word given. 
  
(15 points)

2. When I realised what had happend, I became quite afraid. 
OVERCOME

                                    I ...............................when I worked out what had occurred.

2.   It looks as if he's forgotten about the meeting again.                                             TO
                                    He seems ................................................about the meeting again.

3. You can see that they made a big effort with the school play.                                 DEAL
You can see that.............................................went into the school play.

4.You have to work here for two years before they consider you for promotion     BEEN
They will consider you for promotion...............................................for two years. 

5. It was a bad idea to turn up unexpectedly without calling first.                              BLUE
You should.......................................................without calling first.



VIII. Find one word which is appropriate for all three gaps in each of the following sentences.  (10 
points)

6. We were aiming to raise one million euros for charity, but we…………….short by quite a long way.
I did a survey online and it said that I………….into the category of people who should consider a 
career change.
Jane seemed confident going into the interview, but then she…………to pieces and made a complete 
mess of it.

7. I don’t like parties because I’ve never been good at…………….talk.
I wish you wouldn’t try to make me look ……………………..in front of other people.
We sat up chatting into the……………hours.

8. I’m planning to go to the funeral, just to  …………..my last respect.
I was surprised when Caleb said I looked nice because he doesn’t usually …………….me 
compliments.
I might not have a lot of money, but I always make sure I ……………my way.

9. There’s no………………………….for believing that the Queen is going to abdicate.
She is only working here on a temporary………………
We chose Turkey on the…………………….that it’s much cheaper than Greece. 

10. We hope it won’t be too long before we start a …………………….
My dad thought that the whole thing reflected badly on the……………………name.
Our dog’s got a great personality and we all treat her like one of the……………….. 

Writing (50 points)
You work for a local environmental organization which is concerned about the effect that mass tourism is 
having on your region. Your manager asked you to write a proposal in which you suggest ways of 
encouraging tourists to continue visiting your area without threatening the local environment. Use 
approximately 300 words.



Cl XII A z barem

Key
I. Fill­in 
1. of
2. from
3. how
4. by
5. which
6. available
7. on
8. used
9. out
10. it
11. which
12. enough
13. addition
14. as
15. long

II. Word formation
1. importance
2. funding
3. competitive
4. numerous
5. advancement
6. formative
7. instinctive
8. bilingual
9. converse
10. ease

III. Rephrase        
1. I couldn’t overcome my fear when I worked out what had occurred
2. he seems to have forgotten about the meeting again.
3. you can see that a great deal of effort went into the school play.
4. they will consider you for promotion after you have worked here for two years. 
5. not have turned up out of the blue

IV. One word only:
1. fell
2. small



3. pay
4. bases
5.family


